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APPENDIX D: UNIT ASSESSMENT

Name Date

2. Raphael and Sara are playing a grouping game. In this game:

[
i
|

3 Gickles =1 Bickle
3 Bickles =1 Rickle

On each turn they roll a die to find out how many gickles to ADD to their game
mat. They must regroup and trade if possible to have the LEAST number of tiles
on their game mat.

Raphael’s Game Mat Sara’s Game Mat
Eamel 0 an . R
Rickles | Bickles | Gicles Rickles | Bickles | Gickles
T 7 O UJ
T O
]
O

a. During Sara’s turn she tells Raphael that she has a greater value of tiles on
her mat. Is Sara right? Explain why or why not.
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Name Date

c. Sara and Raphael decide to change the game to use SUBTRACTION.
This is Raphael’s game mat before his turn.

Raphael's Game Mat ,
?Riekles : T : Bickles : ; S Glckles e
11 0

Raphael has to SUBTRACT five gickles from his mat. Draw a picture below
showing how he should regroup and trade his tiles so that he will have the
LEAST number of tiles on his mat.

Raphael’'s Game Mat
EEE 0
Rickles Bickles . Gickles
Answer:
Number of Rickles Number of Bickies Number of Gickles
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APPENDIX E: UNIT TEST RUBRIC

Unit Test Rubric: MoLi Stone Question 1

Problem |M

nt Response .

1a
(max 1)

Focus: understanding of place value and computation

1 I 116 is the largest sum, e.g. 52 + 64 or 62 + 54 = 116

1b
(max 2)

Focus: understanding of place value where the digit 5 has a value of 50 and the digit 6 has a value
of 60. Although the commutative praperty is correct (1-point answer), the understanding is not as
advanced as the 2~point answer.

2 TLists 52 and 64 as addends and 62 and 54 as addends (collectively listed in
either 1a or 1b). For example, 52 + 64 and 62 + 54.

s R

1 Lists 52 + 64 and 64 + 52 or 62 + 54 and 54 + 62 (collectively listed in either

1a or 1b).

Note: It is assumed students have misconceptions if they include either any addends
that do not add up to 116 or make a computation error. 'l 'bercﬁre, 1 point should
be deducted. The fotal score, howewver, should nat be a negative value. For example,
if @ student lists 52 and 64 along with 62 and 54 (a 2-point answer) and also
includes addends that do not add up to 116 (deduct 1 Poi;zt), the total score for 1b
should be 1 point.

1lc
(max 4)

Focus: understanding of place value where the digit 4 has @ value of 40 and the digit 5 has a value
of 50 and placing the 7 in the tens place increases the value of the sum by a multiple of ten (versus
by ones if placed in the ones place). Replacing the 4 would increase the sum by 30 and replacing the
5 would only increase it by 20.

2 Replaces the 4 tens with the 7.
" o
1 Replaces the 5 tens with 7.
2 Explains, “Four tens is less than 5 tens so replacing the 4 tens creates a larger

value” or “I replaced the 4 with the 7 because it was the smaller value in the
tens place.” Must compare with replacing the 5 by indicating it is a larger
value.

OB

Compares 118 with 128 (i.e., the resulting sums if the 7 replaces the 5 and 4
respectively). Must indicate that 128 is larger than 118.

-—--OR---

1 Explains, “The tens place has a larger value than the ones place.”

Y 5, | o -

States, “If I replace the 5 with the 7, T only get 118, and if I replace the 4 with
the 7, T get 128,” but no comparison between the sums 118 and 128 is clearly
indicated.

TOTAL NUMBER OF POINTS: 7
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2c Fiocus: understanding of | “place value, regrouping for subtraction and representing trades

(max 2)

2 Clearly and correctly draws figures below:
‘Rickles | Bickles | Gickles
T 1T U
!
] LIT] U
e R
" Either correct value is represented on mat, but trades are incomplete OR

correct value is represented on mat but is somewhat unclear OR regrouped
correctly but made a careless copying mistake at the start of the problem.

Possible answers:

Rickles Bickles Gickles Rickles  Bickles ickle,
0 0 17 0 5 2
4] : 14 1 0 8
0 2 11 1 1 5
0 3 8 1 2 2
0 4 5
TOTAL NUMBER OF POINTS: 6
Project M® Moli Stane Unit Overview 4
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